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133,1008 * 12
13,0008 * 255 * 13
5.0002 * 102 * 128
2,54021 * 800 * 23

25,0008 * 123]

100,0008 * 53]
25,0002 * 20§ * 4%

50,0008 * 103

2,0008! * 3005

200,0002! * 53]

600,0008 * 13|

36,3008 * 123

100,0008 * 128

16,5009 *3CH * 123

100,000& = 12& * 9
100,000% = 84 * 9&
100,000& = 122 * 9
100,000& = 12& * 9
100,000& = 12& * 9Z

100,000& = 12& = 9&
100,000& = 8 = 93
100,000& = 8 = 93
100,000& = 8 = 93
100,000 = 8& » 9&
100,000& = 8 = 9F

1,598

325
600
407
300
500
200
500
600

,000

600
436

,200

594

97,800
10,800
7,200
10,800
10,800
10,800
10,800
7,200
7,200
7,200
7,200
7,200
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M H-0ts SAAHIA HSB

=P g 29 (el &
A B S(E) - NRAY - BES 0f & o e HIDZ2
—0da 2 w2t 300,000 = 23] 600
O=&Htl 1,000
—Oop2tet ws 28  gRFA 5,000& * 2& » 100 1,000
ogxs 600
— N2 SAS0tel d&X Ast 600,000& = 1CH 600
02 s323l 24,114 22,754 1,360

Os32= & HAl 10,380
—&Jl= 7,958
=2z 5,320& = 80kw * 12& 5,108
NBE(E,It2) 62.72 = 2,000kw * 62 753
NBE(AHS) 94.23 = 6,000kw * 3E 1,696
NEER(HE) 66.8% * 2,000kw = 3 401
—dot=ZAIER 1,100& = 85m" « 123 1,122
—ESHMERES(ANEE) 81,000& * 22| 162
—2= =)= 12,0008 » 30& * 13 360
-tz 7,0003 * 204 = 123 168
— Aot 100,000& * 12/ 100
—CHAMNER 30,000& x 123l 360
— R8s 2502 300 23| 150
(@)aN=3:] 8,734
—FANHEAHSH 1,155.26% * 124 » 7TAI2t = 90 8,734
OAIZ EZHIRXIH 5,000
— eI | 1,000,000& 1,000
— D] M2 1,000,000& = 12 1,000
— &A= X 2teld 1,000,000& = 12 1,000
—ANESEM & HAa 2,000,000 * 12 2,000
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Oda2ge = 150,000& * 2% » 12&8 3,600

206 M=l 20,900 16,300

01 M=H| 20,900 16,300
OL=E M=l 14,600
—2c,JtEgel M7 10,0003 * 24Y * 58 « 23| 2,400
—Xcl,JtERel HAaFY 40,000& » 28 * 58 * 23| 800
—0EMs 2 10,0003 * 20 * 58 « 23| 2,000
—2dEME 2 10,000 & * 20 * 53 « 23] 2,000
—IR2A2ME 2 10,000& * 20H = 5& 23| 2,000
—=XNEH=z7 7,000&* 20 * 5& » 23] 1,400
—Aol g 2 7,000& = 208 = 53 * 23| 1,400
—FHORAWE L (R, XFY) 10,000& * 30 * 23l 600
—AEAAN Mz 2,000,000& = 12l 2,000
OsSAgsiHaaY 6,300
—=A& SAEsS M= 200,000& =* 243| 4,800
—0I=EEte] 404 SAMES S| 50,0003 * 58+ « 63 1,500

~BMS02 ZAES 18,020 18,020

301 Et24 = 3,020 3,020

10 HAAHIZ &3 3,020 3,020
OXEsSAtS0otel n=saa AH 24 10,000& * 50 * 23l 1,000
OXNEsAts0otel SAl XN= 5,000& » 20& * 153 1,500
Oda2t A2Rd2 2S/&#AA AdlE4 20,000& * 13" = 23l 520
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ol 0iAE R 2 (ct9: &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

307 GI12+0I A 15,000 15,000 0

04 QIRHHAIE X 15,000 15,000 0
odead s4 N 15,000,000& 15,000

Oi&sl2 Aldate] 7,500 33,000 225,500

405 XtobE SHI 7,500 12,000 24,500

01 TR =S H SHI 7,500 12,000 24,500
Olizlold (DRESHA FU(NSE) 500,000 500
O15 U8 H4eI|7 2 (01s4) 2,000,000& 2,000
Otizlolal g2 E (40000HA1) 7L 5,000,000& 5,000

MY 2L AU (AMSI =X 1) 37,820 1,708,795 A 1,670,975

ol 2HHI (AL S X 2) 9,600 1,680,975 A1,671,375

A 2HHI(AISI S X 1t) 5,400 5,400 0

203 HRF4Hl 4,200 4,200 0

04 FN2ILRFAHI 4,200 4,200 0
ORM2ILEF=LH 350,000 <128 4,200

204 ARHAH| 1,200 1,200 0

01 MM HRHFH| 1,200 1,200 0
OXMGHP A H| 100,000& 12 1,200

LoNMER AR 4,200 1,675,575 A1,671,375

101 el 4,200 1,675,575 A1,671,375

02 JIEt&E 4,200 1,675,575 A1,671,375
OLQNHZLAA SMI EXH= 4,200,000 4,200

Jl2dHl(Atg =X 1) 28,220 27,820 400
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27,820
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17,620
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55,0008 = 178 » 12&

18,020
6,800
11,220

17,620

400

202

10,200

10,200

01

50,000& » 17& = 128

10,200
10,200

10,200
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